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Instruction: First 15 minutes are allotted
for the candidates to read the

queslion paper.
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Note: i) All questions are compulsory,
Marks allotted to each question
are given in the margin.
i) In numecrical questions, give all
the steps of calculation.
ui) Give relevant answers to the
questions.

1v] Give chemical cquations
wherever necessary.
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374(GA) 4

1. Four alternatives are given in each part
of this question. Sclect the correct

alternative and write it in your answer-
book :

a) For the reaction 2H,0, = 2H,0+ O,
y =K [H,0,]. This reaction is a

i)  zero order reaction

ii) first order reaction

iijj second order reaction

iv) third order reaction. - 1

b) The electrode potential of a half cell
depends upon

i) nature of metal

i) concentration of metal ilons in

solutions
1) temperature

iv) all of these. 1

¢) A metal ion M°* loses three
electrons. Its oxidation number will

be
) +3 i) +6
i) 0 iv) - 3. !
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d) The hydrophobic colloid in the
following is

1] Starch

1)  Glue

i) Stannic oxide

iv)] Gelatin. 1
e) The roasted ore of copper contains

) only Cu,O

i) only Cu,S

i) both Cu,0 and Cu,S

iv)] metallic copper. |
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374(GA) 6
Cr,07% +80, +H' —

"' crdt + HSO; + H,0
C"4 HO4 S 2t 1120 1

2. a) The conductivity of 020 M solution

. -1
of KCl at 298 K 18 0:025 s cm .
Calculate its molar conductivity. 1

b) How many ions are present in
aqueous solution of - complex
COCl,.4NH ;. =1

¢) Discuss the displacement of metals
from salt solutions on the basis of
electrochemical series. 1

d) Balance the following equation by
ion-clectron method :

Cr,07% +S0, +H" —
Cr** + HSO] +H,0
1
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3. ‘a) What is coagulation ? Explain with
an example. 1
b) HF is a liquid, while other hydrogen
halides occur In gascous state.
Clarnfy the recason. 1
c) Why most of the transition elements
- exhibit paramagnetic character ? 1
d) What are the limitations of valence
bond theory ? 1
4. py FefeiEd F1 qERT :
i) A Har
jir Wﬂlﬁﬁml 0
/@ fGias @ F & ? T FuEE G
el AR & ? 2
m), s it & {7 Tt

934571

i) ZRUHAH FRFINIAN (1)
i) SIeTTT Al A ()1 2

F”@HJ)'} d} | Turn over

Scanne d with CamScanner



/

374(GA) 8

o) Wﬂmwaﬂaﬁ% ) T S
/i v ged e % @ &
q:iriﬂ[{l
4. a) Explain the following :
)  Activation encrgy
ii) Thermal coefficient.
b) What are secondary cells ? Why ar
they called storage cells ?

c) Write the formulae of the following
compounds : |

i) Tri-amine trichloro-chromium

(IH)

13 Potassium Hexacyano Iron(lli).

L

/ process.
/&) ATETF R Y FATEE ?
FiawT : NO,, +CO, —— CO, +NO

o (@ {9) @ |
ﬁmﬂﬂﬁﬁmﬁﬁ%:

) NO,+NO, -» NO+NO, (=)
i) NO, +CO - CO, +NO, (7!
S 1 O (F) HE 2 2

]
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5. a] What is meant by the ratc of
reaction ? For the reaction —

Noz+c02——f+coﬂ+wo
(9) (9) @ (9

The proposed mechanism 1s as

below !
i) NO,+ NO, = NO+NO, (slow)

i) NO, +CO = CO,NO, (fast).

What is the rale for the reaction ? 2
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374(GA) 10

b) Write wwo oxidising and two
reducing propertics of SO,. Give

equations only. 2
¢) Write the dispersed phasc and

dispersion medium in the following

colloidal systems :

1) Smoke :

i) Milk. 2
d) On the basis of following properties,

differentiate between Actinoides and
Lanthanoides :

i)  Chemical reactivity
i) Oxidation states. 2
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6. Describe with diagram the manufacture -
of sulphuric acid by lead-chamber
process. Also write its two dehydrating
propertics. Give the chemical equations
of all the reactions involved in It 3

OR

‘Write the method of preparation of the
following  compounds. Also  give
necessary equations.

i)  Sodium thiosulphate

iij Phosphorous trichloride

iii) Xenon tetrafluoride. 3
F T X om ( FOw qOEES WSO

e ) —
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7. What happens when —

( Give chemical equations only |

) Ozonc gas is passed In polassium
permanganate solution ?

ii) Phosphorous acid 1s heated ?
iii) Aqucous solution of ammonia rcacts

will AgNO , ? 3
OR
How will vou obtain ( Give cquations
only ) —

i)  Sulphuric acid from sulphur ?

i) lodic acid from lodine ?

iii) Chlorine gas from  bleaching
powder ? 3
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